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Results

Table S1. Pre- and post-test conditions in the two experimental conditions

BMW T yitnout
n=27
Outcome pre-test post-test pre-test post-test
Heart rate, bpm 89+13 109 + 14 89+13 108 £ 12
SpO,, % 942 86 +6 943 86 +6
SpO; nadir, % 855 856
Dyspnoea, 0-10 0.2+0.7 3.5+2.1 0.2+0.6 3.5+2.1
Leg fatigue, 0-10 04+0.9 27+1.6 04+0.9 27+14

Data are given as mean = standard deviation. Perceived dyspnoea and leg fatigue were

measured using a 0-10 Borg Scale. 6MWT six-minute walk test, 6MWT inout patient walking alone

during 6BMWT, 6MWT i1, assessor walking behind the patient during 6MWT, bpm, beats per

minute, SpO, oxygen saturation.



Table S2. Patient perceptions during the two 6MWTs (n=49)

6MWT ith 6MWT yithout either

Which test did you like more? 12 8 29
(25%) (16%) (59%)

Questions concerning the
assessor accompanying absolutely alittle bit moderate strong very
the patient not strong
To which extent did you feel 46 2 1 0 0
slowed down by the assessor (94%) (4%) (2%) (0%) (0%)
accompanying you?
To which extent did you feel 37 9 1 1 1
pushed forward by the (76%) (18%) (2%) (2%) (2%)
assessor accompanying
you?
To which extent did you feel 47 1 1 0 0
bothered by the assessor (96%) (2%) (2%) (0%) (0%)
accompanying you?
Did you feel safer because 29 8 2 8 2
the assessor accompanied (60%) (16%) (4%) (16%) (4%)

you?

6MWT six-minute walk test, 6MWTinout patient walking alone during 6MWT, 6MWT i1, assessor
accompanying the patient during 6MWT.



Figure S1. Bland-Altman plot showing differences in six-minute walking distance

between the two experimental conditions.
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6MWTD: 6-Minute Walk Test distance. The solid line represents the mean difference, and the

dashed lines represents the upper and lower limits of agreement (mean difference + 1.96 x

standard deviation of the differences). The dotted lines indicate the 95% confidence intervals of

the mean difference and the lower and upper limits of agreement. Mean difference: -8.7m [95%
Cl, -13.5 to -3.8]. Lower limit of agreement: -42.1m [95% ClI, -50.5 to -33.6]. Upper limit of
agreement: 24.8m [95% CI, 16.3 to 33.2].



